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1 AU
Jq_duf(.x.dy:.«'_./bu = .J;J X LS bl w | (D
An equation, which remains unchanged when x is replaced by = is called a/an . I
Radical equation =ii-gz (B) Exponential equation wnl-Jiies (A) '
Quadratic equation _—,GL»J.;»; D) Reciprocal equation =il & (C)
Ifa, B are the roots of 7x* — x + 4 =0 ,then af 441z aB In Sl TR —xk4=0 chl- Booc /11 (2)
- | o o e 2w
The discriminant of ax*+bx+c¢=0 is ‘ ¢5msI0)6 ax’ + bx +c=0 =il | (3)
' - 4ac (D) - b+ 4ac (O) b+ 4ac B) b - 4dac (A
Find x inproportion 4:x :: 5:15 ’dm’-‘;:‘”x Aix i 5:15 @)
- o (o !® Zwmw
I.fa:;bzx:y,then invertendo property is _.;inn a:b=x:y S |(5)
o P o Lo @ =l
Partial fractions of Ec:-f;%czﬁ-"ﬁ are clnf the form ) ) B Y S 11 MTT%%T-Z_S (6)
2Tt @ ARV 0 eke A Bw
The different number of ways to describe a  set are e QS SURPB LS Sged e | (1)
4 M 3 © 2 B 1 W
A set with no element is called q.tk(n-urdfu'fw (8)
| . .Supperset or (D) Singleton 56t (£ (C) Empty set rds (B) Subset er’ (A) |
The data in the form of frequency distribution is called. b AP 60 | (9)
Polygon {101 2(D) Histogram 3 4¢(C) Un,grouped data 5./ #(B) Grouped data si»r) (A)
Che most frequent occurring observation in a data set is called . _q_.d‘kf dodlsd T 2 /ugm...,.fu:»m/ am
. Geometric Mean 45 <1 (D) Harmonic Mean sl BT (C) Median s (B) Mode s (A)-
j08ec’d - cot’f = ... . : _ cosec’d - cot’f =....... - |an
tand M 0 @ 1 B -1 QW
Radii of a circle are : : MleZugL | (12)
Double of the diameter {5~ 4% (B) All equal /1007 - (A) '
N Half of any chord & /e "5 (D) All unequal /1, 27t (C) |
\ tang"ent line intersects the circle at 0¥ S v | A3) |
No point at all 27 (ff ;&5 o/ (D) Single | pomi ¢4 L1(C) Two points 4451(B) Three points (4L (A
: A e T s W oK 60° S, //}Uf:dg-ff 4 G | (14)
\'4 cm long chord subtends a central angle of 60° . The radial segment of this circle is
F4em® ¢ 3em (©) £ 2cm (B) lem A, |
Angle inscribed in a semi circle is et e Suis | (15) |
: @ = © I® 7w
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Q. No. 2 Write Six short answers to the following 2x6=12 G ehinfF Llivrge LALn 2 A
Define radical equation and give an example. S LimzE s flenl$z | 1
Write the quadratic equation in standard form % - 555 +4=0 ' é_f( ELUAS ctlnBons | 2
Solve the quadratic equation by using quadratic formula 5%2-9x-2=0 2_” St Bumedos i Guss | 3
Find discriminant of quadratic equation 6x* - 8x+3 =0 bl Gt B | 4
| Evaluate w7+ wWH.5 W+ WP.5  gepnd |5
) I+ TR-11=0 et ol onte ¥ rulan gL S fen | 6

Without solving ,find the sum and product of the roots of the equation  3x*+ 7x -11=¢

Define joint variation . , f;{giJ,fJ}? i
Find the cost of 8 kg of mangoes, if 5 kg of mangoes cost Rs. 250  _gfps e dfp L/ #8700 1.250=d0urT /K5 /1 | 8
Find mean proportion to 20 ,45 20 45 2k e | 9
Q. No. 3 Write Six short answers to the following 2x6 =12 i feliz Loy gaifitn 3 Ay
Resolve into partial fractions i::i i’::ll 'd"_-d K 2 AUz | 1
‘What is an improper fraction? . e lnllSoand | 2
| If T=0%,Y=2" then find YUT g YUTIY=2" T=0"/1 |3
If A= {0,2,4} ,B={-1,3} thenfind Bx Aand Bx B Zr#BxBuBXA InB={-13} A= {024}/ 4|
If Y={-2,1,2} then make two binary relations for Y XY Lt SEnd LY XY In¥={212} /1|5
Define one — one function. SEWIESC s | 6
What is cumulative frequency? sl g | T
bt nZ K db‘*ff_wjmau.{_ﬁﬁ SoPSssir | 8
Find Arithmetic mean using direct roethod for following frequency distribution.
(Number of Heads) X 1 2 3 4 5
Frequency 3 8 5 3 1
Define median and write its formula _’4( Wl S s | 9
Q. No.4 Write Six short answers to the following 2x6=12. E A Lelrga fdin 4 Ay
' Vcrifytheidcnﬁwi‘l’i:f-g’—= 1+ tan & . ﬂ’%—= 1+tan @ gleafele |1
AP fq.{ji.‘«.gsuf 84° SrSain e 12 crauhbanls | 2
| In a circle of radius 12 cm ,how long an arc subtends a central angle of 84°
| 2 msB Inc=8cm, » b=15cm.a =17cm £ABCA 1|3
InaAABC,a=17cm,b =15cmandc=8cm .find m2B=?
| Define chord of a circle. . Eu P Enlein : 4_
Define non collinear points. KEAY IR 5
Define secant of circle Sy sl |6 ]
Define circum angle. P | T
Define Escribe circle ' ,é__éx /"'J, fle | 8
| Divide an arc of any length into four equal parts. R Pur? i3 LSS | 9
(&0
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_ 8x3=24 ey 9 /dtruodr ...4w’.umru.’ J’.:..u:.pw e
NOTE . Attempt THRZE quesuons in all But questmn No. 9is compulsoty e

So]ve the equation by completing squaré ' 7 +2x-1 = 0 _ 2 /Jf 23 sl (A)—§

(3k+2) x5 (k+1) x+H2k+3) =0 -érﬁﬁJ k ?uwkf»&.muf I | (B)

Fmd the value of k if the roots. uf the equation are equal (3k+2) x*-5 (kD) x+(2k+3) g . :
B

. _'_,.., s ?_""Jl"d’-u;(; -JJ/M
Find the values of variable in continued proportion 7,m-3 ,28 -2l PSS s

Rcsdlve into partial fractions gl a a0 ;égkb_’w;/d:z' ®

(x_+2)z(x+3) : 5. 3 (x+2)%(x+3)

InB= {2 3,5 7},,: A={1,3,5,7, 9} U= (1,2,3,4,56789,100 J,

i (AnB)Y= A'NB’ DA A
1 U= {1 2,3,4 5578910},A {1,3,57,9} and B={2,3,5,7} then verify
theda-Ma:rganslaw (AnB)Y —A’nB'

Find the standard deviaion ‘S’ of setof mumbers  12,6,7,3,15,10,18,5 2200 *S* Gifiimtins

A-7

B

tsing  1-Sin6 o g L o

Prove that 1-sin@  1+siné

Escribe a circle opposite to vertex A to a triangle ABC
 with sides [AB| =6cm, |BC| =4cm, [CA| =3cm

un |AB| =6( |BC| =47 ,[CA =3&u:-1£m.§ W1 infe¥ “ABC wlfmZ A U

®

‘LUHMIL’JV&.; /u?u.mf h"fm&(.../wrff d’r O
Prove that 1f two chords of a circle are congruent then they will be equidistant from the centre. :
OR /L

' uLm;.;ud ok .;,_,u.l,az-ﬁlﬁdm,&_.mu’ .fé.ﬁ’f_,v
| Prove that the opposite angles of any quadrilateral inscribed in a circle are supplementary

&)
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7 JL;"a/u.aL:‘?JUafg’:._J?wua u"u;xbic_.m:.w£Jlf,,:4gé5b|f’_w£c.,:D »A,B,C L.—«k')’j)lﬂ Zv s ey
br‘)r"kk»..r!_?u. ,&(_J’u;:"tfd.../4fuﬂ¢.j .4:’ s UwL;:._.f‘ J Hfi
) 1 A
The solution set of equation  4x%- 16 =0 is ~eir fE A 16=0 2l | (D
+2 48)] {£2} (&) {4} ® {4} W
If b? — 4ac <0 then the roots of ax® -+ bx + ¢ =0 are ,uz?_xu"uﬁ ax’ +bx+c=0 =bi- Ix b — dac <0 /i | (2)
oone of these '3/ (D) imaginary ¥ # (C) rational ¢ (B) irrational Fr A
: o P LK 2B 0 20 JunS L K= X120 bl 8,01 | (3)
If «,Baretherootsof X*— x—1=0 then product of the roots 2o and 28 is
; -4 (D 4 © 2 @® -2 A
The third proportional of x* and ¥ is ' _ . B P o X | @
| LD o h o e L w
: X X 4o
If a:b= x:y,then invertendo property is el aib=x:y | ()
2= () %9*";” © FH-5® = W)
LU DO SN ZD @ # 0 Ferbo. S o= _:_%.,m ©®
The function of the form £ (x) = EN% with D) #0  where NGO and D(0 are polynomials in x is called
' none of these {j}‘/;.u.‘.'c)l (D) afraction /(i (C) anequation =i~ (B) an identify =it (A)
The number of elements in power set of {1,2,3} is . ; e B IS I A (1,23 [ (D
: 9 M 6 8 B 4W
The domain of R={ (0,2),(2,3),(3,3),3,)} is 07 DomR s R={ 0,2,2DGD,GH | @)
' {2343 {024y © {0,23) ® {034 W
Mean is affected by chm_:ge in kil d 71 0 - Sl | (9
none of these /(= fen (D) Rate 7 /14(C) Scale (Pe-k(B) Place | LW _
! The spread or scatterness of observations in a data set is called. ) _.;.rlkf:’ﬁ;{ ¥ u:m»u/ INeL)!
none of these L (/twr (D) central tendency w4/ (C)dispersion 451 (B) average el (A)
. N N— - s [N |
1+sin®  1-sing 14siné  i-sing i
cosf (D) sec’@ (O 2cos’8 (B) 2sec’@ (A
A chord passing through the centre of a circle is called ol b oS o fe Sy | (12)
Secant vk (D) circumference s# (C) diameter ¥ (B)  radius it (A)
.wlmmnaﬂuz.dwdwiéja_ﬂasﬁéc_ﬁmﬁ (13)
The tangents drawn to a cixcle from a point outside it are of... in length.
| miple U%F D) double 5 (C)  equal sir (B) half _is (A}
e IS P4t DL e S | (1)
| The semi circumference and the diameter of a circle both subtend a central angle of
180° (D) 270° (@ 360° (B) 90° (A _
Angle inscribed in a semi circle is ' bt sl Ly Jpid L as |
T@  ; © I® I W]
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Q. No. 2 Write Six short answers to the following

2x6=12  zyfein Lty gadtilbivn 240
1

Solve by factorization 3y’ =y (y-5)

Solve by using quadratic formula 4x’ -14 =3x

4x*-14 =3x éJ’c—dWLL:‘;G@hL—'J-»» :

Define exponential equation and give example.

W =y - ESGi2a 1|
| _'-f:dﬂﬁ;;ig..gf;f@ubduh-j 1|

Find discriminant of quadratic equation 4x* - 7x - 2

=0 42 - Tx-2=0 @03 b G

Bvaluate w* +w*t -5

‘Write the quadratic equation having roots 4,9.

-Un 4.9 UJ 1 g’ sl (fses

1
2
3
4

w+wh-5 et |5
=
7
8
9

Find %%’ in the following proportion phpgtg ¢ x 3—:‘1-:3 : (p - gppradlfx Letditn
Find a third proportional to a’ , 3a’ e AR a®, 3a’
Define proportion RZAy N
Q. No.3 Write Six short answers to the following 2x6 =12 =7 N5 L.-.-,Uly{o:-dd:’b» 3 ,&Jr,_r_
' Resolve @:%(11:14-—33 into partial fraction. Gjﬁ?_“)(i;:e-—ﬂ :J_{Lk? Lo Gaz .1 1
. Define improper fraction. PSS a2
If A=N,B=W then find the valueof B-A _ZB-A ) B=W A=N/i |3
Find a andb if (2a+5,3) = (7,b-4) Qa+5,3) =(Tb-H i zpd baa | 4
If L={a,b,c} and M={d,e,f,g} then find L x M. e LX M I M= (defig} o L= abs} 1|5 |
Define complement of a st Ay s el |6
Find the mode! size of shoe for the following dats _ﬁrﬁ’»bpud’;rrmq_{uf el SUdzsirtipie | 7
4,4,5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6,5,7 | :
Write the formula of mode for grouped data _égﬂJrﬁsi;kd.LJIrwf 8 5
Find arithmetic mean of given data 200, 225, 350, 375, 270, 320, 290 _:;Q'rﬁ’p;lduﬁﬁfrier; 9 ‘

Q. No. 4 Write Six short answers to the following

2x6 =12 é{ f .:-L,IB/;? Lwﬂl{.{a—gﬂdi&w 4 /:’UL-'

Convert the angle into radians -150°

S A e - 150° | 1 |

Find ¢ when & =180‘_’_,. r=35cm

6 =180° , r=35cm .?’q{(:"";f 2

Define obtuse angle.

| Define chord of a circle

E@ P |3 \
£u)8n |4

‘What is meant by length of a tangent?

| Tl e dUdurw |5

If AB=3cmand BC =4cm are the lengths

Define arc ofa circle. LE L | 6
| Define cyclic quadrilateral. gl E | T
Define Escribed circle 2 Ahudle | 8 |
_2:;’(#'/ KT June 43 h_.gﬁyulgl,iu" BC #AB u:};;;éui(frf il 9

of two chords of an arc, then locate the centre of arc .

(%.’:J !J»)
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8x3=24 el 9 /-’dlrcz-c'! ....yli.&...mr.f J.s-..(.ﬂ.om wd
NOTE : Attempt THE.EE questions in all But questlon No 9 is compulsory ;

Solve the equation  «*- 13x*+36 = 0 x*- 13x0+36 =0z SV enl 5 | (A5

"X 28X +48=0 e Vo S E 00

B)
x3_»-28x+48=0

Solve by using synthetic division if 2 is the root of

o 12ah ¥ gr,aa_,;{; ’;j; % Ll SIS Lok | (A6

Using theorem of ccmponendo —dividendo , find value of x—6a x+ 6b

12ab
‘X+6a X X—6b if a—b

| Resotve into-parkial foot : . ; : £ Lz | ®)
esolve nfo partalirsclions  Cooyo +4) _ . (x+2)(x=+4)

It B={1,4,7 ,10} »A={1,3,5,7,9} ,U={1,2,34,....9,10} Ji| a7
- | A-B = ANB' .Zat

If U={1,2,34,....9,10} , A={1,3,5,7 9} 30 B={1 4,7,10} then

provethat A~ B = ANB

Determine variance of !ﬁvcn-data 60,70 ,30,90 , 80 , 42 ekt o Firins, | (B)

kel ] JJUJI:fG; In sin@<0 . tan@ =34 Ji|(a)g
If tan 6 =3/4 and sin <0 . Find the values of other tngnomclm: functions at @ .

ULt Jinde¥ ABC sB5:L A 1y | @B
.z;t.’rhmrm,e un AB -6(‘ BC =4 ,CA =3 (

Escnbeaclrc]eopposm toveﬂewaamangleABCmthszdes |[AB| =6cm, |BC| =4cm,
cAl =3 cm Find its radius also.

.‘;_r/JJw »’.‘/J(.frz-/}éf..ﬂ: J’d‘(../t.' 9
Prove that perpendlcula: from the centre of a circle ona chord bisects it.

OR/A’

-wwamtuxduwuu;m-f fg,.,w’d" =t
| Prove that any two angles i in the same segment of a clrcle are equal,
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